TH2EEREMNRARPFHEIZONT

IE H BEMNENZAPFHE (t-Co2)
HY U 5.52 [kL] x 2.32 [t-Co2/kL] = 12.81 [t-Co2]
XT38 32.5 [kL] x 2.49 [t-Co2/kL] = 80.93 [t-Co2]
AR R R 5.96 [t] x 3 [t-Co2/t] = 17.88 [t-Co2]
BREAE 203.79 [kWh] x 0.528 [t-Co2/kWh] = 107.6 [t-Co2]
AHEf 219.22 [t-Co2]

RIFEHM 2 FEZRICRKFFEHITIINREXZESHIENIREEZDOERKICONT

BIRTH 2 RE3RATAEHEFH120t-Co20EBEERTE, SRICEVWTHAI R EZHEL TWEET,

SEEES D

BART SEERM B

& ATt 5 ATt &5 ATt

( kWh ) (L) ( kWh ) (L) ( kWh ) (L)
4 A 13,727 4,000 16, 813 2,429 -3, 086 1,571
> A 14,172 6, 000 12,980 2,7 1,192 3,229
6 A 19, 643 5,333 19,072 2, 465 571 2,868
TR 53, 337 4,000 28,121 2,250 25,216 1,750
8 A 63,175 4,167 44,673 1,584 18, 502 2,583
9 R 33, 300 3,333 25,635 2,155 7,665 1,178
10 A 18, 959 4,667 13, 331 2,735 5,628 1,932
11 A 16, 427 4,000 16, 173 3,292 254 708
12 A 51, 044 7,000 42,170 2,830 8,874 4,170
1A 56, 170 4,667 52, 450 3,029 3,720 1,638
2 R 42,176 71,333 34,7718 2,012 1,398 5, 321
3 A 32,311 6, 333 18, 166 2,293 14, 205 4,040
&t 414, 501 60, 833 324, 362 29, 845 90, 139 30, 988

S 2 F )
&t 414, 501 60, 833 324, 362 29, 845 90, 139 30, 988
(%) 100 100 18 49 22 51

X1 FHCEE~THBEE INETH

T 2 FEOHIEE

BA 90,139 kWh 0.528 47.593 t-Co2
KTiH 30,988 L 2.490 77.160 t-Co2
&t 124.753 t-Co2

( AR ) [H#8]

TR ENHIRE 38,784 kWh 0.528 20. 478 t-Co2
REARBENHIRE 106, 638 kWh 0.528 56. 305 t-Co2
HiSRBEENHIBE -55, 283 kWh 0.528 -29. 189 t-Co2
#am AR KT MBI 2 30,988 L 2.490 77.16 t-Co2

&t 124. 754 t-Co2




